Sears best interior paint, they say, covers 400 square feet per gallon.  A windowless room with a wooden, unpainted floor is to be painted ( not the floor) Its dimensions are 25 feet by 20 feet by 8 feet.  How many gallon containers should be purchased?

A hexagonal pyramid ( regular) has a face which makes an 80SYMBOL 176 \f "Symbol" angle with its base. If the base edge is 12, find the lateral surface are and the total surface area of the pyramid.

Find the space diagonal of a cube with total surface area 1296 
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Two similar pyramids have base perimeters 12 and 48.  How many times larger is the total surface area of the larger pyramid?  
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A cone is carved out of a hemisphere so that the vertex of the cone is at the bottom of the hemisphere.  If the hemisphere has diameter 18, find the total surface area of the solid.
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Find the total surface are of a regular octahedron ( 8 faces, all are congruent equilateral triangles) 

a) If each edge has length 6

b) If the space diagonal has length 6

A small model of the Statue of Liberty, built perfectly to scale, requires 
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 gallon of paint to cover it completely.  The model is 6 feet tall.  If the real Statue of Liberty is 400 feet tall, how many gallons of paint will be required to cover it completely?
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Given a regular hexagonal pyramid with base perimeter 72 and altitude 
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, find the total surface area.
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The two large circles at each end of the solid have diameter 15.  The two small circles inside have diameter 5. The distance between any two adjacent circles is 12. Find the total surface area of the solid. 

Find the total surface area of the solid
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Find the total surface area and the volume of the truncated pyramid. The upper base and lower Base are both squares. Each lateral edge is 13. The upper and lower bases are parallel.

Find the total surface area and volume of a square pyramid with altitude 6 and base diagonal 
[image: image12.wmf]16

2



[image: image13.wmf]

[image: image14.wmf]STPQ

P

,
[image: image15.wmf]PQ

(
[image: image16.wmf]RM

(
[image: image17.wmf]WN

; ST=8,SQ=5,TP=13,RS=20


[image: image18.wmf]SQ

QP

^

;
[image: image19.wmf]RW

(
[image: image20.wmf]SQ

;
[image: image21.wmf]MN

(
[image: image22.wmf]TP

;
[image: image23.wmf]RS

(
[image: image24.wmf]MT

(
[image: image25.wmf]NP

(
[image: image26.wmf]QW


Find the volume of the solid in at least three different ways.
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A. Find the volume of the intersection of the two cones;

B. Find the volume of the region between the cylinder and the two cones.
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Find the volume of the truncated cylinder


[image: image30.wmf]
A regular tetrahedron (pyramid) has each edge 12. the midpoints of each face are joined to form a new solid.  Find the volume of the new solid.
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A cone is inscribed in a hemisphere with diameter 12.The vertex of the cone is at the bottom of the hemisphere. Find the volume between the two solids.
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The diameter of the small circle is 10. The diameter of the large circle is 16. The strip along the surface connecting the circles is of uniform width, 5. Find the surface area of the strip.

Volume of Cones, pyramids and other pointy things
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1)  Find the volume of a cone with base diameter 10 and slant height 13.
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Find the volume of the entire cone. Then find the volume of the piece that is not a cone (The frustum)

Find the volume of the regular octahedron if each edge is 6. (It has 8 equilateral (s as faces)
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An open topped rectangular box is 10x8x14 on the outside with a rectangular prism cut from it uniformly 2 units from the outside and the bottom. Find the surface area of the solid. 


[image: image37.wmf]
A regular square pyramid has height 12 and slant height 13. Find the lateral surface area and the total surface area of the pyramid.
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Find the total surface area of the prism if it was cut from a cylindrical log 20 feet long.
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(PQR is an equilateral triangle. So is (STW. Plane STW and Plane PQR are parallel 
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Find the total surface area of the solid.

Find the total volume of the prism
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The height of the prism is 20. It is trapezoidal with upper base 10, lower base 20, and lower base angles 45(. A cylindrical hole with diameter 6 is cut through the center of the slanted sides so its center is equidistant from the edges of the prism.. Find the remaining volume.
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The diameter’s endpoints and the vertex of a right cone form a right triangle. If the slant height of the cone is a, find a formula for the volume and a formula for the lateral surface area of the cone in terms of a. 
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A pyramid of height 6 has a cone inscribed inside. The vertex of the cone is the vertex of the pyramid and the base of the cone has radius 4. Find the volume of the region inside the pyramid and outside the cone. 

A cone is inscribed in a hemisphere, with the vertex of the cone at the center of the hemisphere. The cone has height 12 and a radius of the cone makes a 60( angle with the slant height of the cone. Find the volume of the region inside the hemisphere and outside the cone.
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A cone has diameter 12 and height 9. A cylinder is placed inside the cone so the base of the cylinder is concentric with the base of the cone and the upper base of the cylinder is contained in the surface of the cone. If the volume of the cone is nine times the volume of the cylinder, find the dimensions of the cylinder.   

A tennis ball can is a cylinder with three spherical balls tangent to each other and the sides of the can. A tennis ball has a surface area of 
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. Find the volume between the balls and the can.
A sphere with diameter 12 rests inside a cone tangent to the sides and to the top. The cone has diameter 
[image: image47.wmf]123

. Find the volume inside the cone but outside the sphere. 


A cone has radius 6 and height 8. A frustrum is formed by truncating the cone. The ratio of the volume of the frustum to the volume of the original cone is 7 to 8. Find the total surface area of the frustum of the cone.  
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